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\begin{align} |
a&=Db+c\notag\\

a"2&=b"2+c"2\\ ! a=b+c
a~3&=Db"3+c 3\notag } a’> =b> +c? (1.1)

\end{align} | a’=b>+¢?
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\begin{align}\begin{aligned} |

a&=b+c\\
2% =b"24¢"2 } a=b+c (12)
\end{aligned}\end{align} } a’> = b + ¢
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\begin{align} |
\left\{\begin{aligned} ‘
&a=b+c\\ 3 a=b+c
fea”2=b"2+¢"2 1 { (1.3)
\end{aligned}\right.\end{align}

a? = b% + 2
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\begin{align} |

a+b&=b+c\\ 3

\begin{split } i

adz=bc\\ 3 a+b=b+c (1.4)
a 2&=b"2+c"2 :

\end{split }\\ i a1 aEe (1.5)
\begin{split} 3 a> =b*>+c?
a&=b+c\\ 3

a"2&=b"2+c"2

\end{split} 3

\end{align} i

a=b+c
(1.6)

a’? = b* + 2
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\begin{equation}

a 2+b 2=c"2

\end{equation}
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\begin{equation}

a 3=b " 3+c 3

\end{equation}
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%)\ usepackage{cases} |
\begin{numcases } {f(x)=}"f(x)="] LL & = 3
1,&$x\in\mathbb Q$\\ i ) = L xeQ (19

0,&$x\notin\mathbb Q$ 0, x¢Q (1.10)

\end{numcases}.
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\begin{empheq} [left=\empheqlbrace,right=\empheqrbrack]{align}
&a=b-+c&&a=b\\ |
&a 2=b"2+c 2&&a=b

\end{empheq}

a=b+c a=>b| (1.11)
a>=b>+c*> a=b

(1.12)
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